
MATHS

BOOKS - NCERT EXEMPLAR

PLAYING WITH NUMBERS

Solved Example

1. Generalised form of a three-digit number xyz

is

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zHdZu2LQJHnh


A. x + y + z

B. 100x + 10y + z

C. 100z + 10y + x

D. 100y + 10x + z

Answer: B

Watch Video Solution

2. The usual form of 100a + b + 10c is

A. abc

https://dl.doubtnut.com/l/_zHdZu2LQJHnh
https://dl.doubtnut.com/l/_kXwDXYmcQnHp


B. cab

C. bac

D. acb

Answer: D

Watch Video Solution

3. If  then the values of A and C

are

A. A = 5, C = 1

5 × A = CA

https://dl.doubtnut.com/l/_kXwDXYmcQnHp
https://dl.doubtnut.com/l/_v6Xca0L10wpi


B. A = 4, C = 2

C. A = 5, C = 2

D. A = 2, C = 5

Answer: C

Watch Video Solution

4. If 5 A + 25 is equal to B 2, then the value of A

+ B is

A. 15

https://dl.doubtnut.com/l/_v6Xca0L10wpi
https://dl.doubtnut.com/l/_0MZWtU9h53rn


B. 10

C. 8

D. 7

Answer: A

Watch Video Solution

5. The number ab - ba where a and b are digits

and a  b is divisible by ________.

Watch Video Solution

>

https://dl.doubtnut.com/l/_0MZWtU9h53rn
https://dl.doubtnut.com/l/_J5STHoQmosrD


6. When written in usual form 100a + 10c + 9 is

equal to ________.

Watch Video Solution

7. If AB  B = 9B, then A = _________, B =

_________.

Watch Video Solution

×

https://dl.doubtnut.com/l/_Wqh7fUGqkLDS
https://dl.doubtnut.com/l/_M8SVy91pPGwA


8. If abc, cab, bca are three digit numbers

formed by the digits a, b, and c then the sum

of these numbers is always divisible by 37.

Watch Video Solution

9. state whether the statement are true (T) or

false (F)

Let ab be a two-digit number, then ab + ba is

divisible by 9.

Watch Video Solution

https://dl.doubtnut.com/l/_SuRClrWWd8an
https://dl.doubtnut.com/l/_O1HRLdiLcYNW


10. state whether the statement are true (T) or

false (F)

If a number is divisible by 2 and 4, then it will

be divisible by 8.

Watch Video Solution

11. state whether the statement are true (T) or

false (F)

A three-digit number 42x is divisible by 9. Find

the value of x.

https://dl.doubtnut.com/l/_O1HRLdiLcYNW
https://dl.doubtnut.com/l/_bLPoqhSRTmys
https://dl.doubtnut.com/l/_fmx0sug70QRc


Watch Video Solution

12. Find the value of A and B if 

Watch Video Solution

 41 A

+B   4

¯̄¯̄¯̄¯̄¯̄ 5 1 2
–––––––

13. Suppose that the division  leaves a

remainder 4 and the division  leaves a

remainder 1. Find the ones digit of x.

Watch Video Solution

x ÷ 5

x ÷ 2

https://dl.doubtnut.com/l/_fmx0sug70QRc
https://dl.doubtnut.com/l/_XUlgGqmDRGYC
https://dl.doubtnut.com/l/_pAIA8aRxvxyx


Exercise Write The Correct Answer

14. If 756x is divisible by 11, where x is a digit

find the value of x.

Watch Video Solution

1. Generalised form of a four-digit number

abdc is

A. 1000 a + 100 b + 10 c + d

https://dl.doubtnut.com/l/_pAIA8aRxvxyx
https://dl.doubtnut.com/l/_2ZqBw0KLPVAa
https://dl.doubtnut.com/l/_Rq8laVcXbZBX


B. 1000 a + 100 c + 10 b + d

C. 1000 a + 100 b + 10 d + c

D. 

Answer:

Watch Video Solution

a × b × c × d

2. Generalised form of a two-digit number xy is

A. x + y

B. 10x + y

https://dl.doubtnut.com/l/_Rq8laVcXbZBX
https://dl.doubtnut.com/l/_CV3MeOKvhF8s


C. 10x - y

D. 10y + x

Answer:

Watch Video Solution

3. The usual form of 1000a + 10b + c is

A. abc

B. abco

C. aobc

https://dl.doubtnut.com/l/_CV3MeOKvhF8s
https://dl.doubtnut.com/l/_FSuKYOL9qLZu


D. aboc

Answer:

Watch Video Solution

4. Let abc be a three-digit number. Then abc -

cba is not divisible by

A. 9

B. 11

C. 18

https://dl.doubtnut.com/l/_FSuKYOL9qLZu
https://dl.doubtnut.com/l/_zXhjuoYJ391G


D. 33

Answer:

Watch Video Solution

5. The sum of all the numbers formed by the

digits x, y and z of the number xyz is divisible

by

A. 11

B. 33

https://dl.doubtnut.com/l/_zXhjuoYJ391G
https://dl.doubtnut.com/l/_huLry6ydqfxC


C. 37

D. 74

Answer:

Watch Video Solution

6. A four-digit number aabb is divisible by 55.

Then possible value(s) of b is/are

A. 0 and 2

B. 2 and 5

https://dl.doubtnut.com/l/_huLry6ydqfxC
https://dl.doubtnut.com/l/_IYo7qkU39Vm8


C. 0 and 5

D. 7

Answer:

Watch Video Solution

7. Let abc be a three digit number. Then (abc +

bca + cab) is not divisible by

A. 

B. 3

a + b + c

https://dl.doubtnut.com/l/_IYo7qkU39Vm8
https://dl.doubtnut.com/l/_MbXw9VUpnxMn


C. 37

D. 9

Answer:

Watch Video Solution

8. A four-digit number 4ab5 is divisible by 55.

Then the value of b - a is

A. 0

B. 1

https://dl.doubtnut.com/l/_MbXw9VUpnxMn
https://dl.doubtnut.com/l/_I0SXjWnkHVym


C. 4

D. 5

Answer:

Watch Video Solution

9. If abc is a three digit number, then the

number abc - a - b - c is divisible by

A. 9

B. 90

https://dl.doubtnut.com/l/_I0SXjWnkHVym
https://dl.doubtnut.com/l/_vXhMN9JJV7T6


C. 10

D. 11

Answer:

Watch Video Solution

10. A six-digit number is formed by repeating a

three-digit number. For example 256256,

678678, etc. Any number of this form is

divisible by

https://dl.doubtnut.com/l/_vXhMN9JJV7T6
https://dl.doubtnut.com/l/_TbnHH1LWpuB3


A. 7 only

B. 11 only

C. 13 only

D. 1001

Answer:

Watch Video Solution

11. If the sum of digits of a number is divisible

by three, then the number is always divisible

by

https://dl.doubtnut.com/l/_TbnHH1LWpuB3
https://dl.doubtnut.com/l/_5VGpa4u25F1K


A. 2

B. 3

C. 6

D. 9

Answer:

Watch Video Solution

12. If x + y + z = 6 and z is an odd digit, then the

three-digit number xyz is

https://dl.doubtnut.com/l/_5VGpa4u25F1K
https://dl.doubtnut.com/l/_X2Jhjzi6E8NG


A. an odd multiple of 3

B. odd multiple of 6

C. even multiple of 3

D. even multiple of 9

Answer:

Watch Video Solution

13. If 5 A + B 3 = 65, then the value of A and B is

A. A = 2, B = 3

https://dl.doubtnut.com/l/_X2Jhjzi6E8NG
https://dl.doubtnut.com/l/_vV7uPX1PoJAf


B. A = 3, B = 2

C. A = 2, B = 1

D. A = 1, B = 2

Answer:

Watch Video Solution

14. If A 3 + 8 B = 150, then the value of A + B is

A. 13

B. 12

https://dl.doubtnut.com/l/_vV7uPX1PoJAf
https://dl.doubtnut.com/l/_9E4yMuanoW9k


C. 17

D. 15

Answer:

Watch Video Solution

15. If 5 A  A = 399, then the value of A is

A. 3

B. 6

C. 7

×

https://dl.doubtnut.com/l/_9E4yMuanoW9k
https://dl.doubtnut.com/l/_GYENzmgk9Pbw


D. 9

Answer:

Watch Video Solution

16. If 6 A  B = A 8 B, then the value of A - B is

A. 

B. 2

C. 

D. 3

×

−2

−3

https://dl.doubtnut.com/l/_GYENzmgk9Pbw
https://dl.doubtnut.com/l/_zQHwaBpVvMUE


Answer:

Watch Video Solution

17. Which of the following numbers is divisible

by 99

A. 913462

B. 114345

C. 135792

D. 3572406

https://dl.doubtnut.com/l/_zQHwaBpVvMUE
https://dl.doubtnut.com/l/_kCYNevfheyKS


Exercise Fill In The Blanks

Answer:

Watch Video Solution

1. 3134673 is divisible by 3 and ______.

Watch Video Solution

https://dl.doubtnut.com/l/_kCYNevfheyKS
https://dl.doubtnut.com/l/_QVCVUXzUlLiH


2. 20x3 is a multiple of 3 if the digit x is ______

or ______ or ______.

Watch Video Solution

3. fill in the blank to make the statement true.


3x5 is divisible by 9 if the digit x is __________.

Watch Video Solution

https://dl.doubtnut.com/l/_Qk0vt4Qow1WP
https://dl.doubtnut.com/l/_fwVianAbBfFq


4. fill in the blank to make the statement true.

The sum of a two-digit number and the

number obtained by reversing the digits is

always divisible by __________.

Watch Video Solution

5. fill in the blank to make the statement true.


The difference of a two-digit number and the

number obtained by reversing its digits is

always divisible by ___________.

https://dl.doubtnut.com/l/_Ofr8hkrp4AdR
https://dl.doubtnut.com/l/_6aXRrYXilJlN


Watch Video Solution

6. fill in the blank to make the statement true.


The difference of three-digit number and the

number obtained by putting the digits in

reverse order is always divisible by 9 and

___________.

Watch Video Solution

https://dl.doubtnut.com/l/_6aXRrYXilJlN
https://dl.doubtnut.com/l/_jibZqIjRYoKv


7. fill in the blank to make the statement true.

If  then A = ______ and B = ______.

Watch Video Solution

 2    B

+A   B

¯̄¯̄¯̄¯̄¯̄¯̄ 8     A
––––––––

8. fill in the blank to make the statement true.

If  then A = ______ and B = ______.

Watch Video Solution

 A    B

 ×  B

¯̄¯̄¯̄¯̄¯̄¯̄ 9      6
––––––––

https://dl.doubtnut.com/l/_A7lT2HPtyin6
https://dl.doubtnut.com/l/_nEKnxDX5GOaH
https://dl.doubtnut.com/l/_Bi3LvTsF7rDJ


9. fill in the blank to make the statement true.

If  then B = _______.

Watch Video Solution

 B    1

 ×  B

¯̄¯̄¯̄¯̄¯̄¯̄¯̄ 4     9B
–––––––––

10. fill in the blank to make the statement true.

1 x 35 is divisible by 9 if x = _______.

Watch Video Solution

https://dl.doubtnut.com/l/_Bi3LvTsF7rDJ
https://dl.doubtnut.com/l/_xiOYFuHuEuyw


11. fill in the blank to make the statement true.

A four-digit number abcd is divisible by 11, if d

+ b = _______ or _____

Watch Video Solution

12. A number is divisible by 11 if the difference

between the sums of the digits in odd and

even places respectively is a multiple of 3 (b) a

multiple of 5
zero or a multiple of 7 (e)
zero or

a multiple of 11

https://dl.doubtnut.com/l/_FWsYjtvpfuze
https://dl.doubtnut.com/l/_TJ38VBuum88e


Watch Video Solution

13. fill in the blank to make the statement true.

If a 3-digit number abc is divisible by 11, then

______ is either 0 or multiple of 11.

Watch Video Solution

14. fill in the blank to make the statement true.

If , then A = ______.

Watch Video Solution

A × 3 = 1A

https://dl.doubtnut.com/l/_TJ38VBuum88e
https://dl.doubtnut.com/l/_CZ4lCFurG9GU
https://dl.doubtnut.com/l/_rAWJFNEYhwuM


Exercise True T Or False F

15. If B  B = AB, then either A = 2, B = 5 or A =

______, B = ______.

Watch Video Solution

×

16. If the digit 1 is placed after a 2-digit number

whose tens is t and ones digit is u, the new

number is ______.

Watch Video Solution

https://dl.doubtnut.com/l/_L82cWreYxhBe
https://dl.doubtnut.com/l/_Lf4EIBDkB0qz


1. State whether the statement given is true

(T)
or false (F):

A two-digit number ab is always divisible by 2

if b is an even number.

Watch Video Solution

2. State whether the statement given is true

(T)
or false (F):

A three-digit number abc is divisible by 5 if c is

an even number.

https://dl.doubtnut.com/l/_XROlyB0Qjtzt
https://dl.doubtnut.com/l/_3TcfMsZLCAqo


Watch Video Solution

3. State whether the statement given is true

(T)
or false (F):

A four-digit number abcd is divisible by 4 if ab

is divisible by 4

Watch Video Solution

4. State whether the statement given is true

(T)
or false (F):

https://dl.doubtnut.com/l/_3TcfMsZLCAqo
https://dl.doubtnut.com/l/_9wpraw6NWTR3
https://dl.doubtnut.com/l/_V2uiAqGW3JDt


A three-digit number abc is divisible by 6 if c is

an even number and a + b + c is a multiple of

3.

Watch Video Solution

5. State whether the statement given is true

(T)
or false (F):

Number of the form 3N + 2 will leave

remainder 2 when divided by 3

Watch Video Solution

https://dl.doubtnut.com/l/_V2uiAqGW3JDt
https://dl.doubtnut.com/l/_0epMR5x6kEW7
https://dl.doubtnut.com/l/_ljGBtniT0P9Q


6. State whether the statement given is true

(T)
or false (F):

Number 7N + 1 will leave remainder 1 when

divided by 7.

Watch Video Solution

7. State whether the statement given is true

(T)
or false (F):

If a number a is divisible by b, then it must be

divisible by each factor of b.

Watch Video Solution

https://dl.doubtnut.com/l/_ljGBtniT0P9Q
https://dl.doubtnut.com/l/_xdjAa82ckzBF


8. State whether the statement given is true

(T)
or false (F):

If AB  4 = 192, then A + B = 7.

Watch Video Solution

×

9. State whether the statement given is true

(T)
or false (F):

If AB + 7C = 102, where , then A +

B + C = 14.

B ≠ 0, C ≠ 0

https://dl.doubtnut.com/l/_xdjAa82ckzBF
https://dl.doubtnut.com/l/_efj2QGd0Lytm
https://dl.doubtnut.com/l/_9G3HSqQo7rL5


Watch Video Solution

10. State whether the statement given is true

(T)
or false (F):

If 213x 27 is divisible by 9, then the value of x is

0.

Watch Video Solution

11. State whether the statement given is true

(T)
or false (F):

https://dl.doubtnut.com/l/_9G3HSqQo7rL5
https://dl.doubtnut.com/l/_NQKqjTIO6Aga
https://dl.doubtnut.com/l/_j2j0Ry897xJx


Exercise

If N  5 leaves remainder 3 and N 2 leaves

remainder 0, then N  10 leaves remainder 4.

Watch Video Solution

÷ ÷

÷

1. Find the least value that must be given to

number a so that the number 91876a2 is

divisible by 8.

Watch Video Solution

https://dl.doubtnut.com/l/_j2j0Ry897xJx
https://dl.doubtnut.com/l/_avNSMsjoNW1D
https://dl.doubtnut.com/l/_Y2N08yGrAP4r


2. If  where Q – P = 3, then find the

values of P and Q.

Watch Video Solution

 1      P 

 ×  P

¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯ Q     6 
––––––––––

3. If 1AB + CCA = 697 and there is no carry–over

in addition, find the value of A + B + C.

Watch Video Solution

https://dl.doubtnut.com/l/_Y2N08yGrAP4r
https://dl.doubtnut.com/l/_wZGtj1rtbljP


4. A five-digit number AABAA is divisible by 33.

Write all the numbers of this form.

Watch Video Solution

5. Find the value of the letters in the following

questions. 

Watch Video Solution

 A     A 

+A     A

¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄XA     Z 
––––––––––

https://dl.doubtnut.com/l/_uvYaZ8b34kIL
https://dl.doubtnut.com/l/_f4X2olJ3k0OE
https://dl.doubtnut.com/l/_ziIhpL9yTBRI


6. Find the value of the letters in the following

question. 

Watch Video Solution

 8     5 

+4    A

¯̄¯̄¯̄¯̄¯̄¯̄¯̄BC    3 
–––––––––

7. Find the value of the letters in the following

question. 

Watch Video Solution

 B   6 

+8   A

¯̄¯̄̄ ¯̄̄ ¯̄¯C A  2
–––––––

https://dl.doubtnut.com/l/_ziIhpL9yTBRI
https://dl.doubtnut.com/l/_UThdOGmr7NUw


8. Find the value of the letters in the following

question. 

Watch Video Solution

  1  B A 

+A  B A

¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯  8  B  2 
–––––––––––

9. Find the value of the letters in the following

questions. 

  C  B A 

+C  B  A

¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯1 A  3   0 
–––––––––––

https://dl.doubtnut.com/l/_UThdOGmr7NUw
https://dl.doubtnut.com/l/_imjhYGlilcXa
https://dl.doubtnut.com/l/_K30xHVqozKvH


Watch Video Solution

10. Find the value of the letters in the

following question. 

Watch Video Solution

  B  A A 

+B  A  A

¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄ 3   A   8 
––––––––––––

11. Find the value of the letters in the following

questions. 

https://dl.doubtnut.com/l/_K30xHVqozKvH
https://dl.doubtnut.com/l/_1PFXZJk4FH52
https://dl.doubtnut.com/l/_KJJABAUXHAVd


Watch Video Solution

  A 0 1 B 

+1  0 A B

¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯ B  1  0  8  
––––––––––––––

12. Find the value of the letters in the

following questions. 

Watch Video Solution

 A  A

×    A

¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯C  A  B 
––––––––––

https://dl.doubtnut.com/l/_KJJABAUXHAVd
https://dl.doubtnut.com/l/_Zzw1DU0ie1Qh


13. Find the value of the letters in the

following questions. 

Watch Video Solution

 A  B

−B   7

¯̄¯̄¯̄¯̄¯̄¯̄4      5 
––––––––

14. If  A=33,then find the value of A.

Watch Video Solution

2A7 ÷

https://dl.doubtnut.com/l/_9bL4k70KHyrT
https://dl.doubtnut.com/l/_b2DD19lIwnw0


15. 212 x 5 is a multiple of 3 and 11. Find the

value of x.

Watch Video Solution

16. Find the value of k where 31k 2 is divisible

by 6.

Watch Video Solution

17. 1y3y6 is divisible by 11. Find the value of y.

https://dl.doubtnut.com/l/_Xo45nfW1VFHn
https://dl.doubtnut.com/l/_vn0AUIvM89vr
https://dl.doubtnut.com/l/_vCJ92nGHfdGO


Watch Video Solution

18. 756 x is a multiple of 11, find the value of x.

Watch Video Solution

19. A three-digit number 2 a 3 is added to the

number 326 to give a three-digit number 5b9

which is divisible by 9. Find the value of b - a

Watch Video Solution

https://dl.doubtnut.com/l/_vCJ92nGHfdGO
https://dl.doubtnut.com/l/_3mfG3LEvwfKV
https://dl.doubtnut.com/l/_j0DQxdmB8Y6k
https://dl.doubtnut.com/l/_dWJg8vpPZfzQ


20. Let E = 3, B = 7 and A = 4. Find the other

digits in the sum 

Watch Video Solution

  B A S  E 

+B A L  L

¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯ G AM E S  
–––––––––––––––

21. Let D = 3, L = 7 and A = 8. Find the other

digits in the sum 

Watch Video Solution

M A D

+A   S

+     A

¯̄¯̄¯̄¯̄¯̄¯̄¯B U L L
–––––––––

https://dl.doubtnut.com/l/_dWJg8vpPZfzQ
https://dl.doubtnut.com/l/_EJ42dnMHv4Zk


22. If from a two-digit number, we subtract the

number formed by reversing its digits then

the result so obtained is a perfect cube. How

many such numbers are possible? Write all of

them.

Watch Video Solution

https://dl.doubtnut.com/l/_EJ42dnMHv4Zk
https://dl.doubtnut.com/l/_SHowMndf6fBw


23. Work out the following multiplication. 

 


Use the result to answer the following

questions. 

(a) What will be 12345679  45? 

(b) What will be 12345679  63? 

(c) By what number should 12345679 be

multiplied to get 888888888? 

(d) By what number should 12345679 be

multiplied to get 999999999?

Watch Video Solution

 12345679

   ×      9

¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯                
––––––––––––

×

×

https://dl.doubtnut.com/l/_hHs2T59TGbMl


24. Find the value of the letters of the

following: 

Watch Video Solution

 PQ

×   6

¯̄¯̄¯̄¯̄¯̄¯̄QQQ 
––––––––

25. Find the value of the letters of the

following: 

 2 L M

+L M 1

¯̄¯̄¯̄¯̄¯̄¯̄¯̄¯ M 1 8 
––––––––––

https://dl.doubtnut.com/l/_hHs2T59TGbMl
https://dl.doubtnut.com/l/_jiN4hYKR4FDu
https://dl.doubtnut.com/l/_MiwX94wCcgrH


Watch Video Solution

26. If 148101B095 is divisible by 33, find the

value of B.

Watch Video Solution

27. If 123123A4 is divisible by 11, find the value

of A.

Watch Video Solution

https://dl.doubtnut.com/l/_MiwX94wCcgrH
https://dl.doubtnut.com/l/_TQpBCgaihb7s
https://dl.doubtnut.com/l/_G9cG4uXcUAN8
https://dl.doubtnut.com/l/_x71tbi45caX8


Application Games And Puzzles

28. If 56x32y is divisible by 18, find the least

value of y

Watch Video Solution

1. Put tick mark in the appropriate boxes if the

given numbers are divisible by any of 2, 3, 4, 5,

https://dl.doubtnut.com/l/_x71tbi45caX8
https://dl.doubtnut.com/l/_WGDrZcSocKxh


Think And Discuss

6, 8, 10, 11 numbers. 

Watch Video Solution

1. What would be the value of y, if 277y is

divisible by 11?

https://dl.doubtnut.com/l/_WGDrZcSocKxh
https://dl.doubtnut.com/l/_6f4cGHQrxEIk


Watch Video Solution

https://dl.doubtnut.com/l/_6f4cGHQrxEIk

